MATH 1200 Spring 2017 Exam 2B Name: D0\

Show all your work to get tull/ partial credit. Each problem is worth 3 points.

I. Graphy =2x + 1.
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2. Given -2x + 4y = 12, graph

a. The x-intercept. |3 points]

b. The y-intercept. |5 points]
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3. Determine the center and radius of the circle: (x—4)*+(y+2)*=81
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4. Check if the given relation defines y as a function of x, explain your reasons.
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6. IfsetA={x|x <6}uandsetB={x|x = -1} findANB
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7. a. Write an equation that indicates that the area is 250yd?. [ points]

K(x+\S) =250

b. Find the length and the width of the rectangle. [5 points]
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6x + 30

8. a.Solve x + prpapY = 0. [5 points]
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b. Find restrictions on the function, if any. [3 points]
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9. Solve the equation: Vv2x — 4 = 6.
et Lx -4 = 3
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10. Solve 2x — 9 < 6(x — 1) — 3x.
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a. Solve the compound inequality. [5 points]
e ax- e 5(3)

| | A
L Gy -1 &S x

e
o
O
ke
™
o~

{
{
-

o.

Write the solution set in interval notation and graph. |3 points]
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12. Solve the equation:  |3x + 5] = |x + 1].
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I4. Solve 2lx + 31— 4 > 6.
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I5. Find the midpoint of the line segment whose endpoints are:

(-1.-3) and

t3 - 3-2
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10. Find the distance between the points:
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